=} [1/GeV]

3

G‘—O‘IIU

1
dad

Ratio to ATLAS

d? {ptT’l cdot

-
<
N

|
o
&

107°

0.5

13000 GeV pp
] : | : | :

ptTOIO (ATLAS ttbar)
- m ATLAS
— --{d-- Herwig 7.2.1 default
| —&— Pythia 8.240 default

I ¢ Sherpa 2.2.4 default

Rivet 3.1.10, = 100k events

’|:E\
- R 1o
- : ) - M
| : Yool =
; S or)
| : s o
E Y "-.. (@)
H \\ ™
- : AR —
; I =
s ‘ =
- ; —c
— : o
- : i
H —
L : 1 U
| 1@
5 o
| : o
5 @)
| . . A T . || E
:l T T T T T T | T T "," T T |:
— —2
- ISt b N
? 4\ \11 1
| ¢ _




	Contents
	Page 1


